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Q.1 belief of ability implies that efforts are meaningful in achieving
success.

Options 1. Avoidance-based
2. Incremental
3. Competitive
4. Entity

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.2 In a progressive classroom, a teacher facilitates the children to work in groups to
achieve a common learning task. This will promote among students.

Options 1. competition
2. cooperative learning
3. frustration
4. rivalry

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.3 Assertion (A) : Adolescents should be provided lot of opportunities for discussion
and debate in the classroom.

Reason (R) : Collaborative learning provides room for negotiation of meaning and
sharing of multiple views.

Choose the correct option.

Options 1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)

3. (A) is true but (R) is false

4. Both (A) and (R) are false.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.4 Which of the following intelligence types are included in Howard Gardner's theory of
multiple intelligences?

Options 1. Analytical, Linguistic, Spatial

2. Fluid, Crystalized, General

3. Linguistic, Logico-mathematical, Musical
4. Creative , Analytical, Practical

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.5 To encourage conceptual change among students, a teacher should -
Options 1. present information in disconnected chunks.
2. give long passages to rote memorize.
3. give tasks which are way higher than children's current cognitive level.
4. present content which is moderately challenging and requires modification of schemas.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.6 What does 'active engagement’ of learners involve?
(i) Enquiry and questioning.
(ii) Reproduction and recall.
(iii) Application and reflection.
(iv) Debate and discussion.

Choose the correct option.
Options 1. (i), (iii), (ii)

2. (i), (iii), (iv)

3. (ii), (iii), (iv)

4. (i),(iD), (iv)

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.7 In alanguage class, which of the following strategy should be avoided for
successful conclusion of students with dyslexia?

Options 1. Allow voice - recorders instead of note - taking in class.

2. Setting strict time lines for submission of hand-written work.

3. Provide opportunities for reading and writing at individual pace.
4. Allow typed and printed assignment instead of handwritten.

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.8 Seeing that their son Ravi was interested in reading and could read at the age of 3,
his parents got him a lot of books. Due to his parents’' encouragement Ravi's reading
was way advanced as per his age.

Which principle of development can be inferred from the above example?
Options 1. Development is cephalocaudal

2. Development is a result of interaction between heredity and environment.

3. Development is proximodistal.

4. Development does not follow a predictable path.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.9 "Children activity construct their understanding of the world" is proposed by
Options 1. Jean Piaget

2. Ivan Pavlov

3. E. L. Thorndike

4. B. F. Skinner

Question Type : MCQ
Status : Answered
Chosen Option : 1
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sections in a regular school

participation in society

Choose the correct option.
Options 1. Both (A) and (R) are false.
2. (A) is true but (R) is false
3. Both (A) and (R) are true and (R) is the correct explanation of (A)
4. Both (A) and (R) are true but (R) is not the correct explanation of (A)

Q.10 Assertion (A): Inclusion means, students experiencing difficulties learn in isolated

Reason (R) : Such a practice prepares students experiencing learning difficulties for

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.11
avoided?

genders.
2. Joint endeavours with children of other genders.

4. Exposure to adults engaged in no stereotypical activities.

For breaking gender stereotypes in children, which among the following should be

Options 1. Critical discussions around 'inborn abilities' and 'societal perception of abilities' of various

3. making generic utterances such as 'Girls are good in art' and 'boys excel in maths'

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.12 Which of the following questions would assess critical thinking?
Options 1. What is the formula for (a + b)2?

2. Write chemical formula of methane.

3. What could be the various reasons for shortage of food?

4. What is the depositional feature of a glacier called?

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.13 A Learning difficulty marked by low span of attention, impulsiveness and a low

tolerance for frustration, is referred as -
Options 1. Visual Impairment

2. Autism

3. Attention Deficit Hyperactivity Disorder
4. Dyscalculia

Question Type : MCQ
Status : Answered
Chosen Option : 3

at moral development do individuals define right action by self-chosen ethical
agreement?

Options 1. The social contract orientation.

2. The social order maintaining orientation.

3. The instrumental purpose orientation.

4. The Universal ethical principal Orientation.

According to Lawrence Kohlberg's theory of moral development, at which stage of

principles of conscience that are valid for all humanity, regardless of law and social

Question Type : MCQ
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S32D26394/16423980636166087/31154...

3/62



1/23/22, 3:08 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S32D26394/1642398...

Q.15 In the context of assessment, what kind of report card for students has been
proposed in National Education Policy (NEP) 20207

Options 1. 360 degree multi-dimensional report card
2. Report cards specifying relative performance of the student in comparison to others
3. Report cards of students performance in paper and pencil tests through the year.
4. summative uni-dimensional report cards

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.16 Which of the following is NOT an important factor of creativity?
Options 1. Flexibility
2. Convergent Thinking
3. Fluency
4. Originality

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.17 A constructive classroom would include tasks that are -
(i) moderately difficult.
(ii) based on recalling the text.
(i) repetitive and mechanical.
(iv) group work.

Choose the correct option.
Options 1. (i), (ii), (iii)

2. (i), (ii)

3. (ii), (iii)

4. (i), (iv)

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.18 The development period in which internalised norms are questioned and the
opinions of the peer group usually become more important than family is called

Options 1. Adolescence

2. Infancy

3. Early Childhood
4. Middle childhood

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.19 A student is likely to experience when attribution for success is considered
internal and when attribution for failure is considered external.

Options 1. Anxiety, Relief

2. Gratitude , Joy

3. Shame, Gratitude
4. Pride, Anger

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.20 While arranging the pieces of a puzzle Meethi speaks aloud to direct her own
actions. Lev Vygotsky refers to the use of such language for self regulation as -

Options 1. Irrational Speech
2. Egocentric Speech
3. Social Speech
4. Private Speech

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.21 While teaching a new concept in middle grades, a teacher should :
Options 1. give ready-made notes to students and ask them to memorise.

2. ensure that students do not share their socio-cultural knowledge in the discussion about
concept.

3. ensure that the concept is absolutely alien to students.
4. relate what students already know with the new concept.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.22 Which period of development comprises each of the following characteristics:
establishment of independence, development of identity and abstract thinking?

Options 1. Middle childhood.
2. Early Adulthood
3. Adolescence

4. Late childhood.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.23 Which of the following theorist used ‘cogneline developmental’ approach to explain
the moral reasoning among children ?

Options 1. Joan Turiel

2. Michael Oser

3. Jean Piaget

4. Howard Gardner

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.24 Assertion (A): A teacher should not cater to individual differences in the class.

Reason (R): The purpose of progressive education is to ensure that all children are
instructed in a uniform manner and assessed by standard methods.

Choose the correct option.

Options 1. Both (A) and (R) are false

2. Both (A) and (R) are true and (R) is the correct explanation of (A)

3. Both (A) and (R) are true but (R) is not the correct explanation of (A)

4. (A) is true but (R) is false

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.25 In a socio-constructivist classroom, what all would be a source of knowledge?
(i) Newspapers
(ii) Peers
(iii) Textbooks
(iv) Folktales

Choose the correct option.
Options 1. (i), (iii), (iv)

2. (ii), (iii)

3. (i), (ii), (iii)

4. (i), (i), (iii), (iv)

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.26 Which of the following statements about socialization is correct?
Options 1. Media and family are secondary agencies of socialization.

2. Secondary socialization occurs first when the children learn their individual identity and
acquire language.

3. There is a uniform way of socialization across cultures.

4. Socialization is a complex process in which several agencies influence children during
various times in their life-span.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.27 Alternative conceptions among children:
Options 1. are purely illogical and erroneous

2. represents their intuitive theories

3. should not be attended by the teacher

4. are unusual to get formed

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.28 A condition characterized by significant limitations both in reasoning, learning,
problem solving and in adaptive behaviour including social and practical skills will
be known as

Options 1. Hearing impairment
2. Intellectual disability
3. Loco motor disability
4. Visual impairment

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.29 In context of teaching - learning, which of the following strategy is discouraged by
Lev Vygotsky?

Options 1. Co-operative Learning
2. Expository teaching
3. Assisted Learning

4. Scaffolding

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.30 Allowing learners maximum freedom within a resource rich environment and
facilitating them to construct knowledge for themselves, indicate towards which
approach?

Options 1. Text-book centred learning
2. Expository teaching
3. Behaviouristic teaching
4. Discovery Learning

Question Type : MCQ
Status : Answered
Chosen Option : 4

Section : Mathematics and Science

Q.1 Which among the following is/are features of an effective classroom discussion?
a. It provides an opportunity for students to clarify their misconceptions.
b. It provides an opportunity for gifted students to show their talents.
c. It develops student’s mathematical thinking and imbibe in them a fear free attitude towards mathematics.

Options 1 aandb
2. only c
3 bandc

4 aandc

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q2 \Which of the following statements are true?

(i) Sum of two prime numbers is always a prime number.
(ii) A composite number can be odd.

(iii) 2" is the only even prime number.

(iv) ‘1" is the smallest prime number.

Options 4 (i) and (iii)
2. (iii) and (jw)
3. (i) and (iii)
4. (ii) and (iv)

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q3 Consider the following statements :
(A) Diseases like dysentery and malaria are bacterial diseases
(B) Typhoid and tuberculosis are caused by protozoans
(C) Influenza and chicken pox are caused by virus
(D) Polio and most coughs are viral diseases
The correct statement(s) is/are

Options 1 iy A
2. Only Aand B
3. Only C
4. OnlyCandD

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q4 The correctly describing statement about the arteries in human heart is

Options 1.
Arteries have thin walls with valves inside , blood flows under low pressure, carry blood away from the heart

2.
Arteries have thick elastic walls with valves inside, bload flows under high pressure, collect blood from different organs
and bring it back to the heart

3.

Arteries have thick walls, blood flow under low pressure, carry the bload from heart ta different organs of the body

4.
Arteries have thick elastic walls without valves inside, blood flows under high pressure, carry blood away from the
heart to various parts of the body

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.5  [dentify the group of constituents of petroleum i.e. the products obtained from the petroleum

Options 1 njesel, petrol, Rayon
2. Diesel , bitumen, caustic soda
3. Lubricating oil, paraffin wax, bitumen

4. Petrol, Rayon, paraffin wax

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.6 On a winter morning while walking bare footed we feel that the marble floor is cold as compared to the wooden floor.
It is because the marble floor

Options 1 raflects more heat as compared to wooden floor
2. is a poor conductor of heat than the wooden floor
3. is washed daily whereas the wooden floor is broomed only

4. is a good conductor of heat than the wooden floor

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.7  Consider the following statements related to cell and choose the INCORRECT statement :
A) Shapes of the Cell are specifically related with function
B) Cell Membrane is absent in plant cell
C) Cell wall is present in bacteria
D) Neuron exhibit spindle shape

Options 1 g
2. A B
3.B,C
4. C,D

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.8 A teacher presents the real-life problem in the classroom that in a village where almost all the villagers / households
are from economically weaker section only three are affluent households. For providing the maximum benefits of govt
scheme to villagers, a survey is being done. In this situation, which one of the following measures of central tendency
will be appropriate to find out the average income of that village?

Options 1 Mode
2. Median
3. Mean

4. Harmonic Mean

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.9 A middle school teacher plans an assessment for his students and gives the following word problem on “Fractions”
“Cherry’s mother bakes cupcakes for her picnic. She ate few cupcakes with her friends. She counted that 20 cupcakes

th
are left. She tells her friends that they have eaten s of the total cupcakes. How many cupcakes did her mother bake?”
The given word problem would assess which abilities of students?
(a) to determine a whole when a fractional part is given.
(b) to understand relationship of various quantities in a context.
(c) to read a problem in English language.

(d) to give multiple correct answers for the problem.
Choose the correct options.

Options 1 (3) and (c)
2. only (a)

3. (a) and (b)
4. (b) and (d)

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.10  Theareaofa trapezium is 512 cm? The length of its non-parallel sides are 17 cm and 23 cm and distance between the
parallel sides is 16cm. The perimeter of the trapezium is

Options 1. 116 cm
2. 108 cm
3. 112 cm
4. 104 cm

Question Type : MCQ
Status : Answered
Chosen Option : 4
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QA1 jfthe weight of 12 sheets of thick paper is 40 grams, then how many sheets of the same paper would weigh 3%
kilograms?
Options 1. 135}
2. 1050
3. 950
4. 750
Question Type : MCQ
Status : Answered
Chosen Option : 2
Q12 The actual path of urine in the human body is
Options 1.
Kidney ____, urinary bladder — urethra ——— ureter
2.
Kidney ———» urinarybladder — % urinary —, urethra
3.
Kidney ——— urethra —— urinary bladder —— ureter
4

Kidney ——— ureter ——  urinary bladder ——  urethra

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.13  Which of the following would not be helpful in assessing student’s conceptual understanding in science?

Options 1.
Listening carefully to students responses and reacting to their ideas

2. Ensuring timely submission of assignments by students

3.

Analysing students’ performance on concept-based inventories
4,

Giving direct, clear feedback about student performance compared to challenging standards

Question Type : MCQ
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S32D26394/16423980636166087/3115...  10/62



1/23/22, 3:08 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S32D26394/1642398...

Q14 consider the following forces

(A) Muscular force
(B) Magnetic force
(C) Frictional Force
(D Gravitational force
(E) Electrostatic force

The non-contact forces are
Options 1 A B and D only

2. B,DAndEonly
3. B,C,DandE
4. Band E only

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.15  Which among the following are the features of a constructivist classroom?
a. Asking students to solve all the problems given in the exercises of a textbook
b. Connect concepts and problems with the real life situation.
c. Facilitate student interaction during classroom activities.
d. Asking more questions to the students and discourage questioning by the students.

Options 1 aandhb
2. a,bandc
3 bandc
4 candd

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.16 Asquare and a semi-circle with aclosed base are formed using pieces of wire of length 144cm each. The ratio of the

area of the square to that of the semi-circle is (m = ?)

Options 1 81 :77

2.4
3. :4
4. 77:81

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.17 All of the following practices may be helpful in developing rational thinking except

Options 1 aypiding controversial issues
2. consulting reliable & literature in science
3. looking for cause-effect relationships

4. encouraging scepticism

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.18  Which of the following is correct statements regarding Photosynthesis & respiration in Plants?
Options 1.

Respiration taken Place during night day whereas Photosynthetic during day time
2. Both take Place during day and night

3. Both take Place in Plants during day time
4

Respiration takes Place during night and Photosynthesis during day time

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.19 In order to encourage students from diverse background to study and do science comfortably, which of the following
strategies will not be appropriate?

Options 1.
Including illustrative examples from rural, urban and tribal context in your explanations
2.

As a teacher, demonstrating that you are comfortable studying and doing science and thus presenting yourself as a role
model

3.

Having high expectations from ‘scientifically talented’ students while having moderate expectations from those who
lack scientific aptitude

4.

By emphasising the contributions of people from all cultures to the enterprise of science

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q20 gometimes we get muscle cramps after exercise. It is because
Options 1.

aerobic respiration takes place and lactic acid, CO; and energy are produced
2

anaerobic respiration takes place and alcohol, CO, and energy are produced
3

aerobic respiration takes place and alcohol, lactic acid and energy produced
4

anaerobic respiration takes place and lactic acid, and energy are produced

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q21 Consider the following statements :

(i) All rectangles are squares.
(ii) All rhombuses are parallelograms.
(i) All squares are not parallelograms
(iv)  All squares are trapeziums.

Which of the above statements are correct?

Options 1 Only (ii) and (iii)
2. Only {ii) and (iv)
3. Only (iii) and (iv)
4. Only (i) and (i)

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q22 \what is the value of

-7

" 144
2. 75
3. 144

25

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.23 which among the following, ismost appropriately related with Mathematics Laboratory?

Options 1.
Itis helpful in developing the habit of thinking, reasoning and problem solving.

2.
In mathematics laboratory concrete materials can be easily provided to the learner.

3.
Mathematics Laboratory helps learners in improving their verbal skills.

4. It does not encourage projects based learning.

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.24 Ix—4 2x+1 7
PR g B8 g T
3 2 5]

Sx—1
then the value of xT 5

Options ) ]

4
1
2.
4
)
3. -
4
1
4. . =
4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.25 Arayof light is incident on the reflecting surface of a plane mirror. If the incident ray makes an angle of 40° with the
reflecting surface , the angle between incident ray and the corresponding reflected ray is

Options 1 g0 °
2. 40°
3.100°
4. gn°

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.26 Natural numbers 1 to 25 are written on different slips (one number on one slip), kept in a box and mixed well. Raj picks
up one slip from the box without looking into it. What is the probability that this slip bears a composite number?

Options1 13
i
16

2. —
25
14

3. —
25

3

4, s
5

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.27

Options 1. on [‘f D

2. onlyBand D

4. A,Band D

Consider the following statements about biodiversity

(A) It refers to only the fauna found in a particular area

(B) It refers to the total number of individuals of a particular species found in the given area
(C) It refer to the different kind of species of flora and fauna present in the given area

(D It is maximum in forests

The correct statements is/are

3. onlyCandD

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.28

Options 1, 7 9g

The mean of the mean, median, mode and range of the data
2,1,3,2,4,9,8,4,13,4 s :

2. 8.25
3..515
4. 5.25

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.29

Options 1.

In an English class, the teacher while narrating a story, mentioned a character, who goes to a river for bringing drinking
water. Nakul, a student intervened by asking whether drinking river water is safe because he is drinking water from a
(Purifier) at his home. What should the teacher do?

Tell Students that drinking water from the river directly is not safe and continue narrating the story
2.

Tell Nakul that it is a fictitous story and he should not search for logic in this story
3.

Tell Students to discuss and give reasons why it.is not safe to drink water from the river directly
4.

Tell Nakul that this is an English class and he should discuss this topic with the school science teacher

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.30  The part of human alimentary canal where complete digestion of fats takes place is

Options 1 mouth

2. small intestine

3. large intestine

4. stomach

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.31 The ratio of exterior angle and interior angle of a regular polygon is 1 : 4. The number of sides of the polygon is

Options 1. g
2. 10
3.8
4. 6
Question Type : MCQ
Status : Answered
Chosen Option : 2
.32 ” = . . .
Q If AD is an altitude of an equilateral triangle ABC, then 4AD? is equal to
Options 1. 35(:2
2. 2AB?
3. 2BD?
4. ?}an
Question Type : MCQ
Status : Answered
Chosen Option : 1
Q.33 The least number which must be subtracted from 893304 to obtain a perfect square is
Options 1. 3158
2.1042
3. 479
4. 279
Question Type : MCQ
Status : Answered
Chosen Option : 4
Q.34 Which of the following is a more accurate deseription of ‘Scientific method’?
Options 1.
It is a fixed sequence of seven steps followed by scientists for doing science
2.
It is a popular method used in science which relies heavily on data
3.
It is a combination of thought processes that do not necessarily occur in certain sequence
4.
It is a time — tested method of which popular hypothesis — formulation is an essential part
Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.35 A middle school teacher posed the following question to the class:
“Using the digits 2,3,6 and 9 only once make a decimal number closest to 64”
Student A responded: “Its 62.39”
Student B responded : “I think | can arrange the digits again to get a number that is more closer to 64”
Which of the following statements is/are correct in the above context?
(a) The question assesses the students on their ability to compare two decimal numbers.
(b) The response of student B is wrong as 62.39 is the correct answer.
(c) There can be multiple answers to the given question.
(d) The teacher can initiate the discussion and let students critically analyse the reasoning of others.
Choose the correct option.

Options ; (c) and (d)
2. (a) and (b)
3. (a) and (d)
4. Only (b)

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.36 which of the following is NEVER TRUE with respect to Scientific studies?
Options 1.
They involve observation, identification of pattern and hypotheses formulation
2. They rely only on sensorial data as the ultimate evidence

3.
They involve devising qualitative or mathematical models and deducing their consequences

4.
They aim at verification/falsification of theory observation and controlled experiments

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.37  |fthesumof 1.5 X 10° and 3.4 X 107 is expressed in standard form as p x 10®, then value of (2p + n) is

Options 1. 7 1
2.13.1
3.14.1
4. 10.55

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.38  Assertion (A): An octagon has 8 lines of symmetry.
Reason (R): The number of lines of symmetry of a regular polygon is equal to the number of its sides.
Which of the following is correct?
Options 1 (A) is false, but (R) is true
2. Both (A) and (R) are false
3. Both (A) and (R) are true
4. (A)is true, but (R) is false

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.39 A train starts from a station A on 06.10.2021 at 22.15 hrs and reaches the station B on 09.10.2021 at 04.15 hrs. If the
distance between the two stations is 1890 km, the average speed of the train is

Options 1 35 |/
2. 63 km/h
3. 63 km/h
4. 54 km/h

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.40 (Consider the following statements
(A) A convex mirror always forms a virtual and diminished image
(B) A concave lens always forms a virtual and diminished image
(C) A concave mirror can form a real diminished as well as virtual diminished image
(D) A convex lens while using as a magnifier makes a real and magnified image

The correct statements are
Options 1 A B and D

2 B,CandD

3. A,BandC

4. onlyAandB

Question Type : MCQ
Status : Answered
Chosen Option : 1

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S32D26394/1642398...

Q.41 The National Curriculum Framework 2005 stresses on adopting problem solving as an approach to teach mathematics
because

Options 1 prohlem solving is related to conceptual understanding

2.
We need to train teachers inadopting problem solving approach

3. Students are scared.of solving problems

4. It needs practice to become a good problem solver

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q42 ractors of (25x2 - 4y% + 28yz — 49z2) are
Optionsy (Bx + 2y — 72)(5x — 2y + 7z2)
2. (bx— 2y +7z)(bx—2y—7z)
3. (bx+2y—72)(bx— 2y —17z)
4. (bx — 2y —Tz)}(bx+ 2y + 72)

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.43  Which of the following would be helpful in making suggestions about remedial teaching to learners?
Options 1. p|acement evaluation
2. Summative evaluation

3. Diagnostic evaluation

4. Prognostic Evaluation

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.44 There are 18 and 24 students in two sections of a class. The number of groups of largest equal size in which these
students can be divided for their practical work is

Options 1. 7
2. 4
3.6
4. 3

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.45 According to National Curriculum-(2005), major aim of mathematics education in schools is to :
Options 1 Analyse the child’s thought process

2. De-mathematize the child’s thought process

3. Develop the problem-solving ability in learner

4. Mathematize the child’s thought process

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.46 A . .
If3m— — =3 ,where m # 0, then the value of m> + -
am = 81m?2
Options 1 4
2.1 =
3. 2
4. 2 =

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q47 Chemicals generally used as food preservatives are
Options 1 Tartaric acid and sodium sulphate

2. Spdium bicarbonate and sodium benzoate

3. Sodium meta bisulphite and sodium benzoate

4. Sodium bicarbonate and sodium sulphate

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q48 Read the following statements and choose the correct response.
Assertion (A) — Sound travels faster in water than in air
Reason (R) — Rigidity of medium impact the speed of sound.

Options 1. A is correct and R is incorrect

2. Ris correct and A is incorrect

3.
Both A and R are correct and R is not correct explanation for A

4. Both A and R are correct and R is correct explanation for A

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q49 5| ynit of pressure is
Options 1. newton.meter
2. newton/ metre
3. newton metre?

4. newton,/ metre?

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.50  \When a polythene tube is rubbed with a woollen cloth, the polythene tube

Options 1.
becomes negatively charged while the cloth has a positive charge

2.
becomes positively charged while the cloth has a negative charge

3. and the cloth both acquire negative charge

4. and the cloth both acquire positive charge

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.51  When recast, the length of a cylindrical iron rod is made 16 times of its original length. The radius of the new rod will
become

Options i EH 2
1. - times of the original rod

2. 4 times of the original rod

3. 16 times of the original rod

4. i times of the original rod

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.52 Group composition which facilitates collaborative learning effectively needs to be
Options 1 Homogenous and small

2. Heterogeneous and small

3. Homogenous and large

4. Heterogeneous and large

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.53  AStudent says that died seeds of kidney bean (Rama) are non-living because they seem no more alive than a handful
of pebbles. What would be your response to her/ his observation?

Options 1.
The seeds are alive because they have the potential for displaying all the properties of life when placed in an
appropriate environment

2.
Once a living thing is cut or crushed , it gradually dies out if it fails to heal itself

3.
The seeds are not alive because they do not exhibit any properties of life

4.
The seeds were once alive, when they were part of the living plant, but now they are dead

Question Type : MCQ
Status : Answered
Chosen Option : 3

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S32D26394/1642398...

Q.54 Dis a point on side BC of a triangle ABC and DB is produced to a point E. If AB = AD,
£ABE = 120° and £BCA = 25°, then £CAD is equal to

Options 1, ¢ 0
2. 35°
3.25°
4. B84 2,

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.55

Options 1. prateins

3. Fats

4. Celluloze

Caterpillars (silkworms) secrete fibre made of

2. Carbohydrates

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.56  Which of the following strategies in NOT suitable for teaching low achievers in mathematics?

Options 1 Giving miscellaneous question from textbook to solve
2. Using activities centred on student’s interest
3. Allocating extra time for teacher guided - practice

4. Giving less number of guestions in a single work session

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.57

Options 4 (? + x
2. 0=
8. (==
4 (T + x

+
+

Q.58

The factorization of 49 — x* — y* + 2xy is

i W i
) ({7-x + 48
¥) (7 - x £ 58
¥) (7 + .

Question Type : MCQ
Status : Answered
Chosen Option : 2

Read the following statements and choose correct option

Assertion (A) — Venus shows phases like moon to from earth when observed from earth
Reason (R1) —Venus has cloudy atmosphere which reflects sunlight

Reason (R2) — Venus rotates on it axis from east to west.

Options 1 1 and R2 true but both are correct explanations for A
2. R1 and R2 are true but R2 is correct explanation for A
3. R1 and R2 true but R1 is correct explanation for A

4. R1 and R2 are true but neither are correct explanation for A

Question Type : MCQ
Status : Answered
Chosen Option : 4

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S32D26394/16423980636166087/3115...

22/62



1/23/22, 3:08 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S32D26394/1642398...

Q39 \What does ‘inferring’ mean in science?

Options 1 The process of minimizing personal biases in observations
2. The process of gathering facts about the physical world

3. Generating explanations for valid observations

4,
Actively using the senses to make direct descriptions of some aspect of the physical world

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.60 Which of the following cannot be considerad as one of the reasons of mathematics anxiety in students?

Options 1. Ahstract nature of mathematics
2. Teaching — learning experiences in classroom
3. Low achievement in mathematics examination

4. Gender differences

Question Type : MCQ
Status : Answered
Chosen Option : 4

Section : Language |
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QA1

Options 1. 1

Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 1

(A) March 8-14 had more than 2.51 lakh count cases.
(R) This was the lowest weekly count in more than six
months.

Pick the correct option fromuthe following

1). Both A and R are true but R'is not the correct
explanation of A.

2). Both A'and R are true but R'is the correct explanation of
A.

3) Ais true but R is false

4) Both A and R are true

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala's
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 2

Q2 Choose the correct option from the alternatives given
below.
The maximum number of deaths were recently recorded in:
1) Kerala
2} Maharashtra
3) Mizoram
4) Tamil Nadu

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.3

Options 1. 1

Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 3
Study the following statements

(A) There has been a sharp decline in Covid cases in Kerala.
(B) This resulted in a sharpdecrease incases of infection in
India.

1) Alisfruebut Bis false.

2) Aisfalse but Bisirue.

3) Both A and B are true but A has no effect on B.

4} Both A and B are true and B is a direct result of A,

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 4

Q4 Choose the correct option from the alternatives given
below :-
By September 13-14 the Covid pandemic was on a decline.
Which of the following paragraphs supports this statement?

1) Paragraph 1
2) Paragraph 2
3) Paragraph 3
4) Paragraph 4
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Chosen Option : 1

Status : Answered
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Q.5

Options 1. 1

Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 5

Put the following in the decreasing order with reference to
the 295 deaths caused due to the Covid pandemic.
Choose the correct ogption from those given below.

1) TamilMadu, Maharashtra, Bengal, Karnataka
2} Karnataka, Bengal, Tamil Nadu, Maharashtra
3) Maharashtra, Tamil Nadu, Karnataka, Bengal
4) Bengal, Karnataka, Tamil Nadu, Maharashtra

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 6
Q6 \What does ‘weekly count’ in para 1 stand for?

1) no of deaths caused by the pandemic Covid-19
2) no of deaths due torpoad accidents
3) pedestrian deaths
4) both(2}and (3]
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 7
Q7 \Which of the following will come under the category —
pandemic?
Death caused globally due to.

1) an accident
2) war
3} some deadly virus
4) atiger
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 8

Q8 The word ‘peaked’ in para 2 is used as afan :
1) adverb
2) adjective
3) noun
4} verb
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage given below and answer the questions complete
the statements that follow by choosing the correct options from the
given ones.

1. India experienced a 15% drop in fresh Covid — 19 cases
detected in the week ending Sunday, the lowest weekly count
in more than six months with Kerala numbers declining by a
steep 21%. The country reported over 2.14 lakh new cases in
the week (September 13-19), down from 2.51 lakh in the
previous seven days. This was the lowest numbers of cases
reported in 27 weeks since March 8-14 (for weeks ending
Sunday).

2. Thesharp fallin all India infections was mainly due to numbers
dropping in Kerala, which still accounts for 62% of all cases in
the country during this week. Two weeks earlier, Kerala’s
weekly case count had crossed 2 lakhs, as the latest wave of
the pandemic in the state peaked; cases continued to decline
in Maharashtra while Mizoram and Tamil Nadu registered a
rise in infections during the week.

3. Meanwhile, on Sunday, India reported 30,814 fresh cases,
nearly the same as the number on the previous day (31,242)
as Kerala logged 19,653 new infections. The state had
recorded 19,352 cases the previous day.

4, There were 295 deaths from the virus with Kerala reporting
152 fatalities, Maharashtra 49, Tamil Nadu 27, Karnataka 16
and Bengal 11.

SubQuestion No : 9
Q9 The word ‘steep’ in para 1 means the same as

1
i
3
4

decrease

a gradual decline
disappear

a sharp fall

[N ety g -

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Comprehension:

Read the extract given below and answer the guestions that follow by
selecting the correct/most appropriate options:

From the neighbouring school come the boys,
And down the wet streets

Sail the mimic fleets,

Till the treacherous pool

Engulfs them in its whirling and turbulent ocean.
In the country, on every side,

Where far and wide,

Like a leopard’s tawny and spotted hide,
Stretches the plain,

How welcome the plain,

How welcome is the rain!

SubQuestion No : 10

Q10 \What does the phrase ‘mimic fleets’ mean in the poem?

1. Small boats
2. Miniature ships
3. Paper boats
4. Naval ships
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the extract given below and answer the guestions that follow by
selecting the correct/most appropriate options:

From the neighbouring school come the boys,
And down the wet streets

Sail the mimic fleets,

Till the treacherous pool

Engulfs them in its whirling and turbulent ocean.
In the country, on every side,

Where far and wide,

Like a leopard’s tawny and spotted hide,
Stretches the plain,

How welcome the plain,

How welcome is the rain!

SubQuestion No : 11

QM The pool is called treacherous as :

a) it ruins the fun of young boys.

b) the pool is very swirly.

) it is as huge as ocean.

d} mimic fleets do not cross the poal.

1. aandbare correct and not c
2. bandcarecorrect and not d
3. canda are correct and not b
4, aanddare correctand notc
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Read the extract given below and answer the guestions that follow by
selecting the correct/most appropriate options:

From the neighbouring school come the boys,
And down the wet streets

Sail the mimic fleets,

Till the treacherous pool

Engulfs them in its whirling and turbulent ocean.
In the country, on every side,

Where far and wide,

Like a leopard’s tawny and spotted hide,
Stretches the plain,

How welcome the plain,

How welcome is the rain!

SubQuestion No : 12

Q12 Chogse the correct option.

1) The pool flows into an ocean.

2) The ocean is calm and peaceful.

3) The rain is compared to a Leopard’s spotted hide.
4) The school is in an oasis.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the extract given below and answer the guestions that follow by
selecting the correct/most appropriate options:

From the neighbouring school come the boys,
And down the wet streets

Sail the mimic fleets,

Till the treacherous pool

Engulfs them in its whirling and turbulent ocean.
In the country, on every side,

Where far and wide,

Like a leopard’s tawny and spotted hide,
Stretches the plain,

How welcome the plain,

How welcome is the rain!

SubQuestion No : 13

Q13 | the poem phrase ‘leopard’s tawny and spotted hide’

means

1. The dry and dead condition of the vegetation around.
2. A contrast between the dry and rejuvenated state of
nature.

3. A perfect image of the rainy season.

4, A skilful use of nature imagery

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the extract given below and answer the guestions that follow by
selecting the correct/most appropriate options:

From the neighbouring school come the bays,
And down the wet streets

Sail the mimic fleets,

Till the treacherous pool

Engulfs them in its whirling and turbulent ocean.
In the country, on every side,

Where far and wide,

Like a leopard’s tawny and spotted hide,
Stretches the plain,

How welcome the plain,

How welcome is the rain!

SubQuestion No : 14

Q14 |dentify and name the literary device used in, ‘till the

treacherous poaol’

Alliteration
Metaphor
Personification
Simile

W N

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S32D26394/16423980636166087/3115...  37/62



1/23/22, 3:08 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S32D26394/1642398...

Comprehension:

Read the extract given below and answer the guestions that follow by
selecting the correct/most appropriate options:

From the neighbouring school come the bays,
And down the wet streets

Sail the mimic fleets,

Till the treacherous pool

Engulfs them in its whirling and turbulent ocean.
In the country, on every side,

Where far and wide,

Like a leopard’s tawny and spotted hide,
Stretches the plain,

How welcome the plain,

How welcome is the rain!

SubQuestion No : 15

Q15 \Wwhich of the following words is opposite in meaning to the

word ‘Engulfs” as used in the poem?

Immersed
Drowned
Unconfined
Swallowed

W

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.16 What does ‘interaction hypothesis’ mean in the language learning?
1. Learners’ interaction.should be afterthe inputs have been fully received.ta learn a second or foreign language.
2. Communicational environment takes place through interactions for language learning.
3. Learners domotinteract based on the inputs of a second or foreign language:
4. Learners need to interact based on the inputs in arder to learn 2 second or foreign language.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.17  What does ‘multilingualism as a resource’ mean?
1. Making use of the learners’ language for teaching language.
2. Using the languages of the learners as methods of teaching for science and languages.
3. Making use of the learners’ family languages in the classroom.
4. Using texts, ideas, practices and cultural aspects of language of learners in the classroom.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.18 Knowledge about the form, describing and apply it in limited practice is
1. Procedural knowledge
2. Communicative competence
3. Grammar in communication
4, Declarative knowledge
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q19 Al formative assessment is

1. assessment of learning

2. assessment while learning
3. assessment as learning
4. assessment far learning
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 Megha bought an oven and she wanted to learn how to operate it. She began to read the instructions specifically to
know which button to operate and reading the instructions to operate the oven. This sub-skill of reading is known as

1. Scanning
2. Predicting
3. Skimming
4. Comprehending
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.21 A learner undertakes the learning of a language through deliberate means is
1. learning of a language
2. acquisition of a language
3. learning of a language system
4, acquisition of grammar
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.22  Ateacher brings in many toys from her home and also asks her learners to bring objects from their home and uses
them in her teaching-learning situations. What are these known as?
1. Teaching aids
2. Realia
3. Toy Pedagogy
4. Object oriented learning

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 4
Q.23

‘Form oriented language inputs’ for language learning are
1. making meaning of the inputs
2. focusing on the information in inputs
3. purpose of the input for learning writing

4, pronunciation, use of vocabulary and grammar.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.24 Words that we use in writing and speaking in the context of vocabulary are known as

1. Receptive vocabulary
2. Productive vocabulary
3. Words we recall when we hear or read.
4, Words we recognize as we read or listen to.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.25 Hereisa conversation between Rahul and Karuna. Read/ Listen to it carefully and say the purpose of the interaction.
Rahul: Hello! How are you? Where have you been? | could not see you for more than a week.
Person 2: Fine. | was out of the town. | visited by parents in my village. How are you? Karuna: How are your
parents?
Rahul: They are fine. Thank you. .
1. Informative purpose
2. Interactional purpose
3. Transactional purpose
4. Inter-personal communication

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.26 Vocabulary acguisition takes place through internalizing the word chunks’ is advocated by
1. Communicative approach
2. Word webs
3. Lexical approach
4. Collocation
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.27 A teacher conducts a dictation in her class with five sentences. She dictates five sentences two times and asks her
learners to write the sentences exactly as dictated. What listening strategy does the teacher here aims at assessing?

1. Top-down listening process
2. Bottom-up listening process
3. Predicting listening process
4. Accuracy and fluency processes
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.28 Alearner learns to write by undergoing the stages of jotting down ideas, creating an outline, writing the first draft and
50 on. What is this strategy of writing known as?
1. Product approach to writing
2. Praocess approach to writing
3. Scientific approach to writing
4. Creative way of writing
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.29  Learners can reach levels of achievement which they would be unoble to reach independently with support from others.

This assumption in language learning is known as s
1. Input hypothesis
2. Output hypothesis
3. Interaction hypothesis
4, Scaffolding hypothesis

Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.30 Ateacher of class VIl asks her learner to plan a trip to a nearby city. Learners have to plan from the beginning of booking
2 bus, creating an itinerary and so on. This takes place in groups of five. Later the groups share and finalise the tour
programme. What is this piece of work called in language teaching-learning?

1. Language learning task
2. Class discussion for language learning
3. Group language generation
4. Brain storming
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Section : Language Il
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Q.1

Options 1. 1
2.2
3.3
4.4
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Comprehension:
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T T O R et 8] T e Sae 5 Se-srt
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TR & IS &1 F97 379 8| T 3 3 deat 7 T
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SubQuestion No : 1
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941
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.2

Options 1. 1
2.2
3.3
4.4
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Comprehension:
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ST T T I T 8, e <1 i a9 A T,
TATEL 3T €1 AT ST=5T T © ST HJS o 1o10, ST
T T 27 T TegeT T § e STt T fa o oo i mes,
FTHET T TTH FIET, T €, UE, SfiaT F T IuerieT,
TR, Ul W1, SATTE eait 3 |1 Wi WY HehRIeHehaT Ue
T T O R et 8] T e Sae 5 Se-srt
IUCTSTATSAT Uak THETATAT ohi TITH 3h 1 STt 31 HE=T o1 =1 T
ST AT o UI MRTAT AT 8| S ST ¢ 1o Foherat af
TR & IS &1 F97 379 8| T 3 3 deat 7 T

T AR W T TR RIeHehal 0T it e 2| Sfem 5 ot
e Tora ot R TR & fore ST 7 - Wi o e -
TR ST ThRIeH| T J ThRIcHhAT [<ia-1 211 U et
BT, SUSATOUET Ul HheTaTl shl ITH AT ST 81 AT ST q4T
TE WA I 6, ST ST , fes, oh1 T e

A e TaTeed st FAviTaT sfeaw o T S i ® 98
THAT STt et O (T | 98 =3 ter W iR g R g o
SITERT & S T 8] $ 10 T ohl HehTIeweh BT <M,
FHTCHF T, HFRIeTe 19 STt AT 7= TaTeeq %1 F8r
TR Feit 2

SubQuestion No : 2

T T T T | W fr AT 2

1. 9%aAdl
2. HREIcHSRGT
3. el
4. FRIIHFRAT

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.3

Options 1. 1
2.2
3.3
4.4
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Comprehension:
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SubQuestion No : 3

= B T 31 T8 T2

1. 791
. feErHEE
. IUSATCHT

HHA

-3

R S

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

fafeaferfigs erer i vewt g TO w41 F GEE UG I AT
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BT, SUSATOUET Ul HheTaTl shl ITH AT ST 81 AT ST q4T
TE WA I 6, ST ST , fes, oh1 T e

A e TaTeed st FAviTaT sfeaw o T S i ® 98
THAT STt et O (T | 98 =3 ter W iR g R g o
SITERT & S T 8] $ 10 T ohl HehTIeweh BT <M,
FHTCHF T, HFRIeTe 19 STt AT 7= TaTeeq %1 F8r
TR Feit 2

SubQuestion No : 4

Options 1. 1
2.2
3.3
4.4

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S32D26394/16423980636166087/3115...

ST T Ol mﬁﬁt%_mmmgﬁrm
=TT 2 f5-

|. TSRS Tl AT e 5 TR ST 0 ST 2
T ST A ® He 2

T Hed Sel WheAaTeAT | 21 [Herar 2|

$TTE T T LT SR TEAT § STE IS
FAT 2

(E]

=W

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.5

Options 1. 1
2.2
3.3
4.4
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